Escape from Math 60 Clues

Cara Lee

Simplify without a calculator:
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Simplify the expression:
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Are these two lines parallel, if you have a party of 5 and

perpendicular or neither?

2x=3y=5 and 9x+6y=12

the bill, including the 18% tip,
is $92.30, how much was the
oill before the tip?
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Simplify without a calculator:
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Write the equation of the line
fhat has a slope of -3 and goes
through the point (0,-2).
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Write the equation of the
line that goes through the
points (1,3) and (5,-5).

Order of Stations

Write the order of the stations here.
You must go through all stations in
the correct order to escape Math 60!




